[image: image1.jpg]Communicating and Connecting What We Know About Music clubs

Verbal

Table

Paddy O’Furniture wants to join a music club. His
first option is to join a club for $40 and then buy
each song for $1. His second option is to buy each
song for $2.
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1. Write an equation for each option that relates the
total cost and the number of songs.

2. Write one equation that shows when the two gym
options have the same total cost.

3. Find where the two options have the same total
cost.

4. What is the cost when the two options are equal?





